
Dérivées usuelles

Fonction Dérivée

f(x) = k f �(x) = 0 k ∈ R ; x ∈ R
f(x) = x f �(x) = 1 x ∈ R
f(x) = xn f �(x) = nxn−1 n ∈ Z∗ ; x ∈ R ou R∗ si n � −1

f(x) =
1

x
f �(x) = − 1

x2
x ∈ R∗

f(x) =
√
x f �(x) =

1

2
√
x

x ∈ ]0; +∞[

f(x) = ln(x) f �(x) =
1

x
x ∈ ]0; +∞[

f(x) = ex f �(x) = ex x ∈ R

Opérations

Fonction Dérivée

f = U + V f � = U � + V �

f = kU f � = kU � k ∈ R
f = UV f � = UV � + U �V
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f = exp(U) = eU f � = U � exp(U) = U �eU

f(x) = V ◦ U(x) f �(x) = U �(x)× V �(U(x))


